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Jracing paper may be used.

( You must have: Ruler graduated in centimetres and millimetres, Total Marks
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.
Answer all questions.

Answer the questions in the spaces provided
- there may be more space than you need.
Calculators may be used.

If your calculator does not have a 7 button, take the value of 7 to be 3.142

unless the question instructs otherwise.

Diagrams are NOT accurately drawn, unless otherwise indicated.

You must show all your working out.

Information

The total mark for this paper is 80

® The marks for each question are shown in brackets
- use this as a guide as to how much time to spend on each question.,

Advice
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Read each question carefully before you start to answer it.

Keep an eye on the time.
Try to answer every question.
Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working,

4

1 Work out  1.73

,.’;3 ) FalFE = 413

(Total for Question 1 is 1 mark)

- 2 There are only red sweets and yellow sweets in a bag.

g of the sweets are red.

Write down the ratio of red sweets to yellow sweets.

R i (Total for Question 2 is 1 mark)

3 Draw a chord of this circle.

e , ... (Total for Question 3 is 1 mark)
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(Total for Question 4 is 1 mark)

5 A bowl contains

1 apple

1 banana

1 orange
and 1 peach

Jess takes 2 pieces of fruit from the bowl.

Write down all the possible combinations of fruit that Jess can take.

(Total for Question 5 is 2 marks)
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6 The first term of a sequence of numbers is 18
The term-to-term rule for this sequence is “add 6”

(a) Is 603 a term of the sequence?
You must explain your answer,

(b) Rizvi says,

“No terms of the sequence are multiples of 7”

Give an example to show Rizvi is wrong.

éx7 ~ 4

(Total for Question 6 is 2 marks)
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There are six identical hexagons.
Three of the hexagons are joined to make shape A.
The other three hexagons are joined to make shape B.

Shape A

Which shape has the greater perimeter, shape A or shape B?
You must show how you get your answer.

Mcthod, 1+ Co Shoe A 13 SA‘V,L B 12
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(Total for Question 7 is 2 marks)
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8 A road map has a scale of 1:50000
. The length of a road on the map is 8.5cm.

Work out the length of the real road in kilometres.
|"§0,500 em or— % {15000D
lem . 5QD m 1660 ©0
lem @ O 8 hm

48 05 = LS heme

_.(Total for Question 8 is 3 marks)
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A
Tom says,
“ABC cannot be a straight line.”

Explain why Tom is correct.

AT R -

Ml s KI5 S 146432

= LS. 7S Lb ......... L5 twt)bt ........... él\& ..............................................................
» (Total for Question 9 is 2 marks)

- 10 Uzma is planning a party for 120 children.
She is going to give every child a toy.

A pack of 8 toys costs £4.35

Work out how much Uzma will have to pay for the toys.

20 & x U = £65-28

(Total for Question 10 is 3 marks)
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- 11 Daisy thinks of a whole number.
She multiplies the number by 3
Daisy’s answer is 34

(a) Explain how you know Daisy’s answer is wrong.

Here is a number machine.

input ————+  +6 X2 P———— output
| &~ b (
o B it T R
Abbie says that when the output is 36 the input is 60
b
Here is her working. 3»: =16
36 -6 =30
30 x 2=60

Abbie is wrong.

(b) Explain what she has done wrong.

.. (Total for Question 11 is 3 marks)
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V2.7 +6.5

12 Work out the value of 48106

Give your answer correct to 2 decimal places.

=L V111559

... (1Ot fOr Question 12 is 3 marks)

- 13 Drinks and snacks can be bought in a cinema.

Drinks Snacks
coffee £1.50 popcorn £1.75
cola £1.25 nachos £1.15
orange 95p ice cream £1.60
chocolate &5p
Special Offer
Buy one drink and two different snacks for £3.99

Laura is going to buy one drink and two different snacks.

Work out the most money that Laura can save by using the Special Offer.
Chorye Hhe I«jw priocs mera) s
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. (Total for Question 13 is 3 marks)
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14 3 of the people at a football match are men.

| 277% of the people at the match are women.
The rest of the people at the match are children.
Work out what percentage of the people at the match are children.

2 +027 =D-64%
S

| -0 6L5 = ©-35%

B ... (Total for Question 14 is 3 marks)
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15 Jake is going to make a path from small paving stones and large paving stones.
1 The diagram shows Jake’s design for the path.
The rest of the path is made using the same pattern of paving stones.

< 1.5m >
_________________ Vs o] T T T T
‘; ) | < %
§171%(4 |o

A small paving stone costs £2.30
A large paving stone costs £3.65

Jake needs to buy enough paving stones to make a path that is 6 metres long.

(a) How much will Jake have to pay for the paving stones he needs?
6=\VS= 4

Sull G b
Lox 2y = E92

LS 5 )L SLLJO.S

1L <248 = £43%

Tl ey = E135-40




Harry designs a different path that is also 6 metres long using the large paving stones.

P 1.5m g
I T |3
b | S |6

Harry says that the cost of his path will be less than half of the cost of the path that Jake
designed.

(b) Is Harry correct?
You must show how you get your answer.

lxb A bs =474
Yohe ¢ 135851 =670
SM &16 7619 }’[wwj v McarrL;t

. (Total for Question 15 is 6 marks)
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